NAME:____________________________________________   Per:____   Date:_____________________

HW #7
DUE Friday ____________
Solve the following proportions for the missing variable.
1. 			2.      EXAMPLE
[image: Image result for solving a proportion]




3.      			4.       



The following polygons are similar. Use a proportion to find the missing side lengths.
[image: Image result for examples of similar polygons]5. 




x=_____________     y=_______________


[image: C:\Users\Teacher\AppData\Local\Temp\9e82a89b-a54d-4ce4-872a-4e6255aa94fb.png]
6. 	



x=__________
Convert the following values to the desired unit. 

7. 32 yds. to m								8. 87 in. to cm






9. 3 miles to ft.							10. 10,280 mm to cm






11.  14 ft. to yards to meters to centimeters










Find the missing length in each of the nested triangles below. 
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. Cross-Multiply

(X)(3) = (2)(9) set tre coss products

equal to each other
3x =18 Simplify

3 3 Divide both sides by 3 to
get x by itself
X =6
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